

# ON $L^p$ -INTEGRABILITY OF A SPECIAL DOUBLE SINE SERIES FORMED BY ITS BLOCKS

XII. Z. KRASNIQI

University of Prishtina, Prishtina, Kosovo

E-mail: xhevat.krasniqi@uni-pr.edu

**Abstract.** In this paper we deal with a special double sine trigonometric series formed by its blocks. This type of trigonometric series is of particular interest since its blocks always are bounded, that is, under some additional assumptions the sum-function of such series always exists. We give some conditions under which such sum-function is integrable of power  $p \in \{2, 3, \dots\}$ , as well as is integrable with some natural weight.

**MSC2010 numbers:** 42A16, 42A20, 28A25.

**Keywords:** Sine series; function of bounded variation; series by their blocks.

## 1. INTRODUCTION

Let  $\Lambda_1 = \{n_i\}$  and  $\Lambda_2 = \{r_j\}$  be two strictly increasing sequences of natural numbers  $1 = n_1 < n_2 < n_3 < \dots$  and  $1 = r_1 < r_2 < r_3 < \dots$  satisfying the conditions:

$$\sum_{i=1}^{\infty} \frac{1}{n_i} < +\infty \quad \text{and} \quad \sum_{j=1}^{\infty} \frac{1}{r_j} < +\infty.$$

Considering the special double sine series

$$\sum_{k=1}^{\infty} \sum_{\ell=1}^{\infty} \frac{\sin kx \sin \ell y}{k\ell},$$

we form the following series

$$(1.1) \quad \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \left| \sum_{k=n_i}^{n_{i+1}-1} \sum_{\ell=r_j}^{r_{j+1}-1} \frac{\sin kx \sin \ell y}{k\ell} \right|.$$

According to the well-known estimate

$$(1.2) \quad \left| \sum_{k=u}^v \frac{\sin kx}{k} \right| \leq \frac{\pi}{ux}, \quad v \leq V \leq \infty, \quad 0 < x \leq \pi,$$

the series (1.1) converges for all  $(x, y)$  and its sum  $G_{\Lambda_1, \Lambda_2}(x, y)$  is a continuous function on  $(0, \pi] \times (0, \pi]$ . This fact is of particular interest and therefore this is the main reason why we have formed the series (1.1).

In the one-dimensional case such series has been considered by Telyakovskii [1] and Trigub [3]. In particular, Telyakovskii [2] has considered the question: when the sum-function  $g_{A_1}(x)$  of the series

$$\sum_{k=1}^{\infty} \left| \sum_{k=n_i}^{n_{i+1}-1} \frac{\sin kx}{k} \right|$$

belongs to the spaces  $L^p[0, \pi]$  for  $p = 2, 3, \dots$ ?

Specifically, in [2] was proved the following theorem.

**Theorem 1.1.** *For any natural  $p = 2, 3, \dots$  the function  $g_{A_1}(x)$  belongs to the space  $L^p[0, \pi]$  if the series  $\sum_{i=1}^{\infty} \frac{1}{n_i} m_i^{1-\frac{1}{p}}$  is convergent, where  $m_i = \min(n_i, n_{i+1} - n_i + 1)$ .*

In the same paper was considered the problem of integrability of the function  $g_{A_1}(x)$  with weight  $x^{-\gamma}$  under natural condition  $0 < \gamma < 1$ . Among others, the following result was proved in [2].

**Theorem 1.2.** *If for  $\gamma \in (0, 1)$  the series*

$$\sum_{i=1}^{\infty} \frac{1}{n_i} m_i^{\gamma}$$

*is convergent, then the integral  $\int_0^{\pi} \frac{1}{x^{\gamma}} g_{A_1}(x) dx$  converges.*

Note that questions pertaining to trigonometric series formed by their blocks were considered in [4] - [6], and still receive considerable attention. The main aim of this paper is to extend the above results to two-dimensional case. In order to do this we will use the technique developed in [2], the estimate (1.2) and the following inequality (see [2] page 818):

$$(1.3) \quad u_i(x) := \left| \sum_{k=n_i}^{n_{i+1}-1} \frac{\sin kx}{k} \right| \leq \frac{A}{n_i} \min \left( \frac{1}{x}, m_i \right), \quad 0 < x \leq \pi,$$

where  $A$  is an absolute constant. Here and in the sequel we write  $G_{A_1, A_2} \in L^p$ ,  $p \geq 1$ , if the integral  $\int_0^{\pi} \int_0^{\pi} |G_{A_1, A_2}(x, y)|^p dx dy$  is finite.

## 2. THE MAIN RESULTS

In this section we state and prove the main results of the paper. We first prove the following result.

**Theorem 2.1.** For any natural  $p = 2, 3, \dots$  the function  $G_{\Lambda_1, \Lambda_2}$  belongs to the space  $L^p([0, \pi] \times [0, \pi])$  if the series

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{(m_i s_j)^{1-\frac{1}{p}}}{n_i r_j}$$

is convergent, where  $m_i = \min(n_i, n_{i+1} - n_i + 1)$  and  $s_j = \min(r_j, r_{j+1} - r_j + 1)$ .

**Proof.** For arbitrary natural numbers  $M$  and  $N$  we have

$$\begin{aligned} & \int_0^\pi \int_0^\pi \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy \\ &= \int_0^\pi \int_0^\pi \sum_{i_1=1}^M u_{i_1}(x) \cdots \sum_{i_p=1}^M u_{i_p}(x) \sum_{j_1=1}^N u_{j_1}(y) \cdots \sum_{j_p=1}^N u_{j_p}(y) dx dy \\ (2.1) \quad &= \sum_{i_1=1}^M \cdots \sum_{i_p=1}^M \sum_{j_1=1}^N \cdots \sum_{j_p=1}^N \int_0^\pi \int_0^\pi u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy. \end{aligned}$$

Next, we split the square  $[0, \pi] \times [0, \pi]$  into the rectangles  $[0, \alpha] \times [0, \beta]$ ,  $[0, \alpha] \times [\pi, \beta]$ ,  $[\alpha, \pi] \times [0, \beta]$  and  $[\alpha, \pi] \times [\beta, \pi]$ , where  $\alpha$  and  $\beta$  will be determined later in an appropriate way. Using the estimates (1.3) we can write

$$(2.2) \quad \int_0^\alpha \int_0^\beta u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \leq A^{2p} \int_0^\alpha \int_0^\beta \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} dx dy = A^{2p} \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} \alpha \beta,$$

$$(2.3) \quad \int_0^\alpha \int_\beta^\pi u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \leq A^{2p} \int_0^\alpha \int_\beta^\pi \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{1}{r_{j_1} \cdots r_{j_p}} \frac{dx dy}{y^p} < \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{A^{2p}}{r_{j_1} \cdots r_{j_p}} \frac{\alpha \beta^{1-p}}{p-1},$$

$$(2.4) \quad \int_\alpha^\pi \int_0^\beta u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \leq A^{2p} \int_\alpha^\pi \int_0^\beta \frac{1}{n_{i_1} \cdots n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} \frac{dx dy}{x^p} < \frac{A^{2p}}{n_{i_1} \cdots n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} \frac{\alpha^{1-p} \beta}{p-1},$$

$$(2.5) \quad \int_\alpha^\pi \int_\beta^\pi u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \leq A^{2p} \int_\alpha^\pi \int_\beta^\pi \frac{1}{n_{i_1} \cdots n_{i_p}} \frac{1}{r_{j_1} \cdots r_{j_p}} \frac{dx dy}{(xy)^p} < \frac{A^{2p}}{n_{i_1} \cdots n_{i_p} r_{j_1} \cdots r_{j_p}} \frac{(\alpha \beta)^{1-p}}{(p-1)^2}.$$

Inserting the estimates (2.2)-(2.5) into (2.1), we obtain

$$\begin{aligned}
 \int_0^\pi \int_0^\pi \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy &< A^{2p} \sum_{i_1=1}^M \dots \sum_{i_p=1}^M \sum_{j_1=1}^N \dots \\
 &\dots \sum_{j_p=1}^N \left( \frac{m_{i_1}}{n_{i_1}} \dots \frac{m_{i_p}}{n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \dots \frac{s_{j_p}}{r_{j_p}} \alpha \beta + \frac{m_{i_1}}{n_{i_1}} \dots \frac{m_{i_p}}{n_{i_p}} \frac{1}{r_{j_1} \dots r_{j_p}} \frac{\alpha \beta^{1-p}}{p-1} \right. \\
 (2.6) \quad &+ \frac{1}{n_{i_1} \dots n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \dots \frac{s_{j_p}}{r_{j_p}} \frac{\alpha^{1-p} \beta}{p-1} + \left. \frac{1}{n_{i_1} \dots n_{i_p} r_{j_1} \dots r_{j_p}} \frac{(\alpha \beta)^{1-p}}{(p-1)^2} \right).
 \end{aligned}$$

Whence, choosing in (2.6)  $\alpha = (m_{i_1} \dots m_{i_p})^{-\frac{1}{p}}$  and  $\beta = (s_{j_1} \dots s_{j_p})^{-\frac{1}{p}}$ , we find that

$$\begin{aligned}
 \int_0^\pi \int_0^\pi \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy &< 4A^{2p} \sum_{i_1=1}^M \dots \sum_{i_p=1}^M \sum_{j_1=1}^N \dots \\
 &\dots \sum_{j_p=1}^N \frac{(m_{i_1} \dots m_{i_p} s_{j_1} \dots s_{j_p})^{1-\frac{1}{p}}}{n_{i_1} \dots n_{i_p} r_{j_1} \dots r_{j_p}} < 4A^{2p} \left( \sum_{i=1}^M \sum_{j=1}^N \frac{(m_i s_j)^{1-\frac{1}{p}}}{n_i r_j} \right)^p.
 \end{aligned}$$

Consequently, since the last series converges by assumption, the integrals

$$\int_0^\pi \int_0^\pi \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy$$

are bounded by a quantity that is independent of  $M, N$ . Therefore, based on the double version of the Levi's theorem, we conclude that the function  $G_{A_1, A_2}$  belongs to the space  $L^p([0, \pi] \times [0, \pi])$ .  $\square$

The next result gives an answer to the following question: under what conditions the function  $G_{A_1, A_2}$  belongs to the space  $L^p([0, \pi] \times [0, \pi])$  with weight  $x^{-\gamma_1} y^{-\gamma_2}$ ,  $\gamma_1, \gamma_2 \in (0, 1)$ ?

**Theorem 2.2.** *If for  $\gamma_1, \gamma_2 \in (0, 1)$ , the series  $\sum_{i=1}^\infty \sum_{j=1}^\infty \frac{1}{n_i r_j} m_i^{\gamma_1} s_j^{\gamma_2}$  is convergent, then the following integral converges*

$$\int_0^\pi \int_0^\pi \frac{G_{A_1, A_2}(x, y)}{x^{\gamma_1} y^{\gamma_2}} dx dy.$$

**Proof.** Based on the uniform convergence of the series (1.1) we have

$$\int_0^\pi \int_0^\pi \frac{G_{A_1, A_2}(x, y)}{x^{\gamma_1} y^{\gamma_2}} dx dy = \sum_{i=1}^\infty \sum_{j=1}^\infty \int_0^\pi \int_0^\pi \frac{u_i(x) u_j(y)}{x^{\gamma_1} y^{\gamma_2}} dx dy.$$

Splitting the square  $[0, \pi] \times [0, \pi]$  into the rectangles  $[0, \alpha_i] \times [0, \beta_j]$ ,  $[0, \alpha_i] \times [\pi, \beta_j]$ ,  $[\alpha_i, \pi] \times [0, \beta_j]$  and  $[\alpha_i, \pi] \times [\beta_j, \pi]$ , where  $\alpha_i$  and  $\beta_j$  are determined by

$$(2.7) \quad \alpha_i = \frac{1}{m_i} \quad \text{and} \quad \beta_j = \frac{1}{s_j},$$

we find that

$$\begin{aligned} \int_0^{\alpha_i} \int_0^{\beta_j} \frac{u_i(x)u_j(y)}{x^{\gamma_1}y^{\gamma_2}} dx dy &\leq A^2 \int_0^{\alpha_i} \int_0^{\beta_j} \frac{1}{x^{\gamma_1}y^{\gamma_2}} \frac{m_i s_j}{n_i r_j} dx dy \\ &= \frac{A^2}{(1-\gamma_1)(1-\gamma_2)} \frac{m_i s_j}{n_i r_j} \alpha_i^{1-\gamma_1} \beta_j^{1-\gamma_2}, \end{aligned}$$

$$\begin{aligned} \int_{\alpha_i}^{\pi} \int_0^{\beta_j} \frac{u_i(x)u_j(y)}{x^{\gamma_1}y^{\gamma_2}} dx dy &\leq A^2 \int_{\alpha_i}^{\pi} \int_0^{\beta_j} \frac{1}{x^{\gamma_1}y^{\gamma_2}} \frac{s_j}{n_i r_j} dx dy \\ &< \frac{A^2}{\gamma_1(1-\gamma_2)} \frac{s_j}{n_i r_j} \alpha_i^{-\gamma_1} \beta_j^{1-\gamma_2}, \end{aligned}$$

$$\begin{aligned} \int_0^{\alpha_i} \int_{\beta_j}^{\pi} \frac{u_i(x)u_j(y)}{x^{\gamma_1}y^{\gamma_2}} dx dy &\leq A^2 \int_0^{\alpha_i} \int_{\beta_j}^{\pi} \frac{1}{x^{\gamma_1}y^{\gamma_2}} \frac{m_i}{n_i r_j y} dx dy \\ &< \frac{A^2}{(1-\gamma_1)\gamma_2} \frac{m_i}{n_i r_j} \alpha_i^{1-\gamma_1} \beta_j^{-\gamma_2}, \end{aligned}$$

$$\int_{\alpha_i}^{\pi} \int_{\beta_j}^{\pi} \frac{u_i(x)u_j(y)}{x^{\gamma_1}y^{\gamma_2}} dx dy \leq A^2 \int_{\alpha_i}^{\pi} \int_{\beta_j}^{\pi} \frac{1}{x^{\gamma_1}y^{\gamma_2}} \frac{1}{n_i r_j xy} dx dy < \frac{A^2}{\gamma_1 \gamma_2} \frac{1}{n_i r_j} \alpha_i^{-\gamma_1} \beta_j^{-\gamma_2}.$$

Finally, using (2.7) and the latest estimates, we obtain

$$\begin{aligned} \int_0^{\pi} \int_0^{\pi} \frac{G_{\Lambda_1, \Lambda_2}(x, y)}{x^{\gamma_1}y^{\gamma_2}} dx dy &< \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \left( \frac{A^2}{(1-\gamma_1)(1-\gamma_2)} \frac{m_i s_j}{n_i r_j} \alpha_i^{1-\gamma_1} \beta_j^{1-\gamma_2} \right. \\ &+ \frac{A^2}{\gamma_1(1-\gamma_2)} \frac{s_j}{n_i r_j} \alpha_i^{-\gamma_1} \beta_j^{1-\gamma_2} + \frac{A^2}{(1-\gamma_1)\gamma_2} \frac{m_i}{n_i r_j} \alpha_i^{1-\gamma_1} \beta_j^{-\gamma_2} \\ &\left. + \frac{A^2}{\gamma_1 \gamma_2} \frac{1}{n_i r_j} \alpha_i^{-\gamma_1} \beta_j^{-\gamma_2} \right) = C \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{n_i r_j} m_i^{\gamma_1} s_j^{\gamma_2} < +\infty, \end{aligned}$$

where  $C = A^2 \cdot \max \left\{ \frac{1}{(1-\gamma_1)(1-\gamma_2)}, \frac{1}{\gamma_1(1-\gamma_2)}, \frac{1}{(1-\gamma_1)\gamma_2}, \frac{1}{\gamma_1 \gamma_2} \right\}$ . □

The next statement supplements Theorem 2.1, and gives conditions under which the integral

$$\int_0^{\pi} \int_0^{\pi} \frac{G_{\Lambda_1, \Lambda_2}^p(x, y)}{x^{\gamma_1}y^{\gamma_2}} dx dy$$

is convergent for  $\gamma_1, \gamma_2 \in (0, 1)$  and  $p = 2, 3, \dots$

**Theorem 2.3.** *If  $p = 2, 3, \dots$  and  $\gamma_1, \gamma_2 \in (1-p, 1)$ , then the integral*

$$\int_0^{\pi} \int_0^{\pi} \frac{G_{\Lambda_1, \Lambda_2}^p(x, y)}{x^{\gamma_1}y^{\gamma_2}} dx dy$$

*is convergent provided that the series*

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{n_i r_j} m_i^{1-\frac{1}{p}(1-\gamma_1)} s_j^{1-\frac{1}{p}(1-\gamma_2)}$$

is convergent.

**Proof.** Using a similar technique as in the proof Theorem 2.1 we have

$$(2.8) \quad \int_0^\pi \int_0^\pi \frac{1}{x^{\gamma_1} y^{\gamma_2}} \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy = \sum_{i_1=1}^M \dots \sum_{i_p=1}^M \sum_{j_1=1}^N \dots \sum_{j_p=1}^N \int_0^\pi \int_0^\pi \frac{1}{x^{\gamma_1} y^{\gamma_2}} u_{i_1}(x) \dots u_{i_p}(x) u_{j_1}(y) \dots u_{j_p}(y) dx dy,$$

for all  $p = 2, 3, \dots$  and natural numbers  $M, N$ .

Again we split the square  $[0, \pi] \times [0, \pi]$  into the rectangles  $[0, \alpha] \times [0, \beta]$ ,  $[0, \alpha] \times [\pi, \beta]$ ,  $[\alpha, \pi] \times [0, \beta]$  and  $[\alpha, \pi] \times [\beta, \pi]$ , where  $\alpha$  and  $\beta$  are determined as in Theorem 2.1.

Using the estimates (1.3) and taking into account that  $\gamma_1, \gamma_2 \in (1 - p, 1)$ , we can write

$$(2.9) \quad \begin{aligned} \int_0^\pi \int_0^\pi \frac{1}{x^{\gamma_1} y^{\gamma_2}} u_{i_1}(x) \dots u_{i_p}(x) u_{j_1}(y) \dots u_{j_p}(y) dx dy \\ \leq A^{2p} \int_0^\alpha \int_0^\beta \frac{1}{x^{\gamma_1} y^{\gamma_2}} \frac{m_{i_1}}{n_{i_1}} \dots \frac{m_{i_p}}{n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \dots \frac{s_{j_p}}{r_{j_p}} dx dy \\ = A^{2p} \frac{m_{i_1}}{n_{i_1}} \dots \frac{m_{i_p}}{n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \dots \frac{s_{j_p}}{r_{j_p}} \frac{\alpha^{1-\gamma_1} \beta^{1-\gamma_2}}{(1-\gamma_1)(1-\gamma_2)}. \end{aligned}$$

$$(2.10) \quad \begin{aligned} \int_0^\pi \int_\beta^\pi \frac{1}{x^{\gamma_1} y^{\gamma_2}} u_{i_1}(x) \dots u_{i_p}(x) u_{j_1}(y) \dots u_{j_p}(y) dx dy \\ \leq A^{2p} \int_0^\alpha \int_\beta^\pi \frac{m_{i_1}}{n_{i_1}} \dots \frac{m_{i_p}}{n_{i_p}} \frac{1}{r_{j_1} \dots r_{j_p}} \frac{dx dy}{x^{\gamma_1} y^{\gamma_2+p}} \\ < \frac{m_{i_1}}{n_{i_1}} \dots \frac{m_{i_p}}{n_{i_p}} \frac{A^{2p}}{r_{j_1} \dots r_{j_p}} \frac{\alpha^{1-\gamma_1} \beta^{1-\gamma_2-p}}{(1-\gamma_1)(\gamma_2+p-1)}. \end{aligned}$$

$$(2.11) \quad \begin{aligned} \int_\alpha^\pi \int_0^\beta \frac{1}{x^{\gamma_1} y^{\gamma_2}} u_{i_1}(x) \dots u_{i_p}(x) u_{j_1}(y) \dots u_{j_p}(y) dx dy \\ \leq A^{2p} \int_\alpha^\pi \int_0^\beta \frac{1}{n_{i_1} \dots n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \dots \frac{s_{j_p}}{r_{j_p}} \frac{dx dy}{x^{\gamma_1+1} y^{\gamma_2}} \\ < \frac{A^{2p}}{n_{i_1} \dots n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \dots \frac{s_{j_p}}{r_{j_p}} \frac{\alpha^{1-\gamma_1-p} \beta^{1-\gamma_2}}{(\gamma_1+p-1)(1-\gamma_2)}, \end{aligned}$$

and

$$\begin{aligned}
 & \int_{\alpha}^{\pi} \int_{\beta}^{\pi} \frac{1}{x^{\gamma_1} y^{\gamma_2}} u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \\
 & \leq A^{2p} \int_{\alpha}^{\pi} \int_{\beta}^{\pi} \frac{1}{n_{i_1} \cdots n_{i_p} r_{j_1} \cdots r_{j_p}} \frac{1}{x^{\gamma_1+p} y^{\gamma_2+p}} dx dy \\
 (2.12) \quad & < \frac{A^{2p}}{n_{i_1} \cdots n_{i_p} r_{j_1} \cdots r_{j_p}} \frac{1}{\alpha^{1-\gamma_1-p} \beta^{1-\gamma_2-p}} \frac{1}{(\gamma_1+p-1)(\gamma_2+p-1)}.
 \end{aligned}$$

The above estimates along with

$$\alpha = \frac{1}{(m_{i_1} \cdots m_{i_p})^{\frac{1}{p}}} \quad \text{and} \quad \beta = \frac{1}{(s_{j_1} \cdots s_{j_p})^{\frac{1}{p}}}$$

imply

$$\begin{aligned}
 & \int_0^{\pi} \int_0^{\pi} \frac{1}{x^{\gamma_1} y^{\gamma_2}} \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy \\
 & < A(p, \gamma_1, \gamma_2) \sum_{i_1=1}^M \cdots \sum_{i_p=1}^M \sum_{j_1=1}^N \cdots \sum_{j_p=1}^N \frac{(m_{i_1} \cdots m_{i_p})^{1-\frac{1}{p}(1-\gamma_1)} (s_{j_1} \cdots s_{j_p})^{1-\frac{1}{p}(1-\gamma_2)}}{n_{i_1} \cdots n_{i_p} r_{j_1} \cdots r_{j_p}},
 \end{aligned}$$

where  $A(p, \gamma_1, \gamma_2)$  is a constant that depends only on  $p, \gamma_1$ , and  $\gamma_2$ .

Hence,

$$\begin{aligned}
 & \int_0^{\pi} \int_0^{\pi} \frac{1}{x^{\gamma_1} y^{\gamma_2}} \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy \\
 & < A(p, \gamma_1, \gamma_2) \left( \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{m_i^{1-\frac{1}{p}(1-\gamma_1)} s_j^{1-\frac{1}{p}(1-\gamma_2)}}{n_i r_j} \right)^p.
 \end{aligned}$$

Finally, the use of the double version of the Levi's theorem implies the statement of the theorem.  $\square$

It is clear that the conditions  $\gamma_1, \gamma_2 > 1-p$  in Theorem 2.3 are essential, therefore in the next theorem we examine the boundary case  $\gamma_1, \gamma_2 = 1-p$ .

**Theorem 2.4.** *If  $p = 2, 3, \dots$  and  $\gamma_1, \gamma_2 = 1-p$ , then the integral*

$$\int_0^{\pi} \int_0^{\pi} \frac{G_{\lambda_1, \lambda_2}^{\sigma}(x, y)}{(xy)^{1-p}} dx dy$$

*is convergent provided that the series*

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{n_i r_j} (\log m_i) (\log s_j)$$

*is convergent.*

**Proof.** Observe first that in this boundary case the equality (2.8) reduces to the following:

$$(2.13) \quad \int_0^\pi \int_0^\pi \frac{1}{(xy)^{1-p}} \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy \\ = \sum_{i_1=1}^M \cdots \sum_{i_p=1}^M \sum_{j_1=1}^N \cdots \sum_{j_p=1}^N \int_0^\pi \int_0^\pi \frac{1}{(xy)^{1-p}} u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy.$$

Also, for  $\gamma_1, \gamma_2 = 1 - p$  the estimates (2.9)-(2.12) take the following forms:

$$\int_0^\alpha \int_0^\beta \frac{1}{(xy)^{1-p}} u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \\ \leq A^{2p} \int_0^\alpha \int_0^\beta \frac{1}{(xy)^{1-p}} \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} dx dy = A^{2p} \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} \frac{(\alpha\beta)^p}{p^2},$$

$$\int_0^\alpha \int_\beta^\pi \frac{1}{(xy)^{1-p}} u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \\ \leq A^{2p} \int_0^\alpha \int_\beta^\pi \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{1}{r_{j_1} \cdots r_{j_p}} \frac{dx dy}{(xy)^{1-p}} < \frac{m_{i_1}}{n_{i_1}} \cdots \frac{m_{i_p}}{n_{i_p}} \frac{A^{2p}}{r_{j_1} \cdots r_{j_p}} \frac{\alpha^p \log \frac{\pi}{\beta}}{p},$$

$$\int_\alpha^\pi \int_0^\beta \frac{1}{(xy)^{1-p}} u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \\ \leq A^{2p} \int_\alpha^\pi \int_0^\beta \frac{1}{n_{i_1} \cdots n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} \frac{dx dy}{(xy)^{1-p}} < \frac{A^{2p}}{n_{i_1} \cdots n_{i_p}} \frac{s_{j_1}}{r_{j_1}} \cdots \frac{s_{j_p}}{r_{j_p}} \frac{\beta^p \log \frac{\pi}{\alpha}}{p},$$

$$\int_\alpha^\pi \int_\beta^\pi \frac{1}{(xy)^{1-p}} u_{i_1}(x) \cdots u_{i_p}(x) u_{j_1}(y) \cdots u_{j_p}(y) dx dy \\ \leq A^{2p} \int_\alpha^\pi \int_\beta^\pi \frac{1}{n_{i_1} \cdots n_{i_p}} \frac{1}{r_{j_1} \cdots r_{j_p}} \frac{dx dy}{(xy)^{1-p}} < \frac{A^{2p}}{n_{i_1} \cdots n_{i_p} r_{j_1} \cdots r_{j_p}} \log \frac{\pi}{\alpha} \log \frac{\pi}{\beta},$$

respectively.

Next, specifying  $\alpha = (m_{i_1} \cdots m_{i_p})^{-\frac{1}{p}}$  and  $\beta = (s_{j_1} \cdots s_{j_p})^{-\frac{1}{p}}$  we obviously have

$$\log \frac{\pi}{\alpha} = \log \pi + \frac{1}{p} \log(m_{i_1} \cdots m_{i_p}) \quad \text{and} \quad \log \frac{\pi}{\beta} = \log \pi + \frac{1}{p} \log(s_{j_1} \cdots s_{j_p}).$$



Using these equalities, the above estimates and the equality (2.13)), we obtain

$$\begin{aligned} & \int_0^\pi \int_0^\pi \frac{1}{(xy)^{1-p}} \left( \sum_{i=1}^M \sum_{j=1}^N u_i(x) u_j(y) \right)^p dx dy \\ & < \sum_{i_1=1}^M \cdots \sum_{i_p=1}^M \sum_{j_1=1}^N \cdots \sum_{j_p=1}^N \frac{A^{2p}}{n_{i_1} \cdots n_{i_p} r_{j_1} \cdots r_{j_p}} \left\{ \left( \frac{1}{p} + \log \pi \right)^2 \right. \\ & \quad \left. + \left( \frac{1}{p^2} + \log \pi \right) \left[ \sum_{\nu=1}^p \log(m_{i_\nu}) + \sum_{\mu=1}^p \log(s_{j_\mu}) \right] + \frac{1}{p^2} \sum_{\nu=1}^p \sum_{\mu=1}^p \log(m_{i_\nu}) \log(s_{j_\mu}) \right\}. \end{aligned}$$

Therefore, we have

$$\begin{aligned} & \int_0^\pi \int_0^\pi \frac{G_{A_1, A_2}^p(x, y)}{(xy)^{1-p}} dx dy \\ & \leq K A^{2p} \sum_{i_1=1}^\infty \cdots \sum_{i_p=1}^\infty \sum_{j_1=1}^\infty \cdots \sum_{j_p=1}^\infty \frac{1}{n_{i_1} \cdots n_{i_p} r_{j_1} \cdots r_{j_p}} \sum_{\nu=1}^p \sum_{\mu=1}^p \log(m_{i_\nu}) \log(s_{j_\mu}) \\ & \leq K A^{2p} \left( \sum_{i=1}^\infty \sum_{j=1}^\infty \frac{1}{n_i r_j} \right)^{p-1} \sum_{i=1}^\infty \sum_{j=1}^\infty \frac{\log(m_i) \log(s_j)}{n_i r_j}, \end{aligned}$$

where  $K$  is an absolute positive constant. The proof is completed.  $\square$

**Acknowledgment.** The author would like to thank the anonymous referee for her/his remarks which improved the final form of this paper.

#### СПИСОК ЛИТЕРАТУРЫ

- [1] S. A. Telyakovskii, "Certain properties of Fourier series of functions with bounded variation", *East. J. Approx.*, **10**, no. 1-2, 215 - 218 (2004).
- [2] S. A. Telyakovskii, "On the properties of blocks of terms of the series  $\sum \frac{1}{k} \sin kx$ ", *Ukrainian Math. J.*, **64**, no. 5, 816 - 822 (2012).
- [3] R. M. Trigub, "A note on the paper of Telyakovskii "Certain properties of Fourier series of functions with bounded variation"", *East. J. Approx.*, **13**, no. 1, 1 - 6 (2007).
- [4] Kh. Z. Krasniqi, "On a class of double trigonometric Fourier series of functions of bounded variation", *East. J. Approx.*, **17**, no. 4, 337 - 344 (2011).
- [5] F. Móricz, "Pointwise behavior of double Fourier series of functions of bounded variation", *Monatsh. Math.*, **148**, no. 1, 51 - 59 (2006).
- [6] V. P. Zastavnyi, "Estimates for sums of moduli of blocks from trigonometric Fourier series", *Trudy Inst. Mat. i Mekh. UrO RAN*, **16**, no. 4, 166 - 179 (2010).

Поступила 12 февраля 2015